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1 PR NIE P54 e ECC*E 2 32 34 66
2 BE #k PN LAY R 1 34 34 68
3] B =W BB ECCZE 3 37 32 69
4| kR RE PN LAY R 1 35 34 69
5| B BRE N KRR E 2 34 35 69
6] &=k BIE EE FEOd 2 34 35 69
7] B %z = = 2 34 35 69
8] %R BE N RIRZFERERE 1 33 36 69
9| RFSMmAF =A e ECC*HH 2 35 35 70
10|  f&HE £k EE EBIEZ 1 35 35 70
11 IiE KX EE LR 3 35 35 70
12| &R IDE e ECC*HH 2 34 36 70
13 ZiE HL EE [N 2 33 37 70
14 ®H HH KR KIRAREE 2 33 37 70
15 KN Ef e ECCEE 2 36 35 71
16| WX K L B R 3 36 35 71
17  #BX BE BE ECCEE 2 35 36 71
18]  FHLE IR{E e ECCEFE 3 35 36 71
19 Af HIE EE FiFth 3 35 36 71
200 ETF #\ZF £EE EBIEZ 3 39 33 72
21 Fik s PN NG 1 36 36 72
22] HE ¥ EE EINEZ 3 36 36 72
23| B M EE EIEZ 1 36 36 72
24| BR TR EE EINEZ 3 35 37 72
25| B=X HMA = ZBEEHR 3 35 37 72
26] {EAR IDE mAD ENEX 3 35 37 72
I CE = £EE EINEZ 3 34 38 72
28| ™iE EifEX EE EBINEZ 3 34 38 72
29] WK EAXR KR KERAREE 1 35 38 73
0| X = AR KERHAE 1 38 36 74
31 At BEEE PN SRR 2 38 36 74
32 U BfE EE ¥ E=kRES 3 38 36 74
33|  fNER #F AR S 3 37 37 74
34| EEH #HE KR Ig1F ot 2 37 37 74
35|  AFt EF EE FiFth 1 37 37 74
36| s EfE NI TR RFHE 3 37 37 74
37 A BEE PN =24A% 3 35 39 74
38| HR/NER £ = ZEEHR 3 34 40 74
39 B PN PN RIS 1 39 36 75
40| WA FaEh EE WFEd 3 39 36 75
41 1t Fh& EE N 2 37 38 75
41| WE BEE N SR 3 37 38 75
41 mH YL PN NG 2 36 39 75
41 #H ¥¥ PN REEd 1 35 40 75
41 WH B4 /I fElth 3 35 40 75
46 AH HO PN RIRZFEEKRE 3 40 36 76
46| BF HE KR KR ARIEE 3 38 38 76
46  BK BEE HE SFLUE A 1 38 38 76
46| FHH FiR PN wAFEmp 3 37 39 76
46| T H FHtH T ZEEHR 3 36 40 76
46| T45— FE | Xk PNV 1 36 40 76
46| X FiE EE H/X 3 36 40 76
46| FR Nk PN KXt 3 36 40 76
46 HK 3 EE EIEZ 2 36 40 76
46 Hi #K & il e 1 36 40 76
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46 F 2D AR AT 2 35 41 76
57| %tk #&HER £EE EiEF% 1 40 37 77
57 o = PN KEKXKHE 3 39 38 77
57 Hil BE EE il oian 1 39 38 77
57|  KHi M= A HErg 3 39 38 77
57| =B EFE =R ZEE&R 3 38 39 77
57 /A EF PN RIRFEREKRE 2 36 41 77
57] TH i2E = FFEEHEHEF [ 3 36 41 77
64 JIEF = EE T K b 2 40 38 78
64| ¥ &2 EE HES$ 1 40 38 78
64| JIl X1 A ERAEES 3 39 39 78
64| b dff PN EFmF 3 38 40 78
68| FFH FHE EE AXH$ 3 42 37 79
68| it Fih PN PRI 1 41 38 79
68| FAA 1HES & BH/X 2 40 39 79
68| {EEE DA EE CE A 3 38 41 79
72 gk Ly PN RIRFEREKRE 3 40 40 80
73] P BE PN PN 2 38 43 81
74| KEI {EF PN KIRAREE 3 42 40 82
74| B FIF AR AR fE 3 40 42 82
74| 5iE kB = EZ @ 2 40 42 82
770 FHE EEW KR NEET 3 45 40 85
77 2H #HE N EZFE g 1 43 42 85
77 Hd 3% AR REHMEE 2 41 44 85
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